

Price List January 01 2015



Single Villas

| Unit | Whole Ownership | Ownership Shares | Ownership Share Price | Availability |
|------|-----------------|------------------|-----------------------|--------------|
| 101 | \$909,000 | 2 | \$454,500 | |
| 102 | \$909,000 | 2 | \$454,500 | |
| 103 | \$909,000 | 2 | \$454,500 | |
| 104 | \$939,000 | 2 | \$469,500 | |
| 105 | \$939,000 | 2 | \$469,500 | |
| 106 | \$1,069,000 | 2 | \$534,500 | |
| 107 | \$1,029,000 | 2 | \$514,500 | |
| 108 | \$1,009,000 | 2 | \$504,500 | |
| 109 | \$1,009,000 | 2 | \$504,500 | |
| 110 | \$1,009,000 | 2 | \$504,500 | |
| 111 | \$1,009,000 | 2 | \$504,500 | |
| 112 | \$1,009,000 | 2 | \$504,500 | |
| 113 | \$1,009,000 | 2 | \$504,500 | |
| 114 | \$1,009,000 | 2 | \$504,500 | |
| 115 | \$1,009,000 | 2 | \$504,500 | |
| 116 | \$959,000 | 2 | \$479,500 | |
| 117 | \$959,000 | 2 | \$479,500 | |
| 118 | \$959,000 | 2 | \$479,500 | |
| 119 | \$959,000 | 2 | \$479,500 | |
| 120 | \$959,000 | 2 | \$479,500 | |
| 121 | \$939,000 | 2 | \$469,500 | |
| 122 | \$939,000 | 2 | \$469,500 | |
| 123 | \$939,000 | 2 | \$469,500 | |
| 124 | \$939,000 | 2 | \$469,500 | |
| 125 | \$939,000 | 2 | \$469,500 | • |
| 126 | \$1,009,000 | 2 | \$504,500 | |
| 127 | \$1,009,000 | 2 | \$504,500 | |
| 128 | \$1,049,000 | 2 | \$524,500 | |
| 129 | \$1,049,000 | 2 | \$524,500 | |
| 130 | \$1,049,000 | 2 | \$524,500 | |
| 131 | \$1,099,000 | 2 | \$549,500 | |
| 132 | \$1,099,000 | 2 | \$549,500 | |
| 133 | \$1,099,000 | 2 | \$549,500 | |
| 134 | \$1,099,000 | 2 | \$549,500 | |
| 135 | \$1,099,000 | 2 | \$549,500 | |
| 136 | \$1,099,000 | 2 | \$549,500 | |
| 137 | \$1,079,000 | 2 | \$539,500 | |
| 138 | \$1,049,000 | 2 | \$524,500 | |
| 139 | \$1,049,000 | 2 | \$524,500 | |
| 140 | \$1,049,000 | 2 | \$524,500 | |



Double Villas

| Unit | Whole Ownership | Ownership Shares | Ownership Share Price | Availability |
|------|-----------------|------------------|-----------------------|--------------|
| 201 | \$1,609,000 | 4 | \$402,250 | |
| 202 | \$1,609,000 | 4 | \$402,250 | |
| 203 | \$1,609,000 | 4 | \$402,250 | |
| 204 | \$1,679,000 | 4 | \$419,750 | |
| 205 | \$1,679,000 | 4 | \$419,750 | |
| 206 | \$1,679,000 | 4 | \$419,750 | |
| 207 | \$1,679,000 | 4 | \$419,750 | |
| 208 | \$1,679,000 | 4 | \$419,750 | |
| 209 | \$1,679,000 | 4 | \$419,750 | |
| 210 | \$1,609,000 | 4 | \$402,250 | |
| 211 | \$1,769,000 | 4 | \$442,250 | |
| 212 | \$1,769,000 | 4 | \$442,250 | |
| 213 | \$1,769,000 | 4 | \$442,250 | |
| 214 | \$1,769,000 | 4 | \$442,250 | |
| 215 | \$1,769,000 | 4 | \$442,250 | |
| | | | | |



Site Plan

